ORD #2125-2021, Division of Water Woodland Ave Area Water Line Improvements 690236-100101, CT No. 2125 Bid Tabulation, Opened 7/21/21

(not local)

					Engineer'	s Estimate	Elite Excavating Co. of Ohio, Inc.		
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 8-inch size	1	EA	\$2,500.00	\$2,500.00	\$210.00	\$140.00	\$350.00
2	201	Tree Removed, 15-inch size	1	EA	\$3,500.00	\$3,500.00	\$300.00	\$200.00	\$500.00
			12,947		\$3.00	\$38,841.00	\$3.45	\$2.30	\$74,445.25
3	254	Pavement Planing, Asphalt Concrete		SY					
		Driveway Replacement, Type IIIA	243		\$552.50	\$134,257.50	\$72.00	\$48.00	\$29,160.00
4	259	(Asphalt)		CY					
		Driveway Replacement, Type IIIB	320		\$1,007.50	\$322,400.00	\$72.00	\$48.00	\$38,400.00
5	259	(Concrete)		CY					
		Driveway Replacement, Type IIIC	204		\$84.50	\$17,238.00	\$12.00	\$8.00	\$4,080.00
6	259	(Gravel)		CY					
7	407	Non-Tracking Tack Coat	2,455	GAL	\$4.88	\$11,968.13	\$2.00	\$1.00	\$7,365.00
		Asphalt Concrete Surface Course,	686		\$318.50	\$218,491.00	\$111.00	\$74.00	\$126,910.00
8	441	Type 1, (448), PG64-22		CY					
9	608	Concrete Walk (4")	1,152	SF	\$10.00	\$11,520.00	\$11.00	\$7.00	\$20,736.00
10	613	Low Strength Mortar Backfill	112	CY	\$85.00	\$9,520.00	\$69.00	\$46.00	\$12,880.00
11	614	Maintaining Traffic	1	LS	\$150,000.00	\$150,000.00	\$18,000.00	\$12,000.00	\$30,000.00
12	615	Temporary Pavement	3,763	SY	\$8.00	\$30,104.00	\$12.00	\$8.00	\$75,260.00
13	659	Seeding and Mulching	1,113	SY	\$15.00	\$16,695.00	\$5.00	\$3.00	\$8,904.00
14	801	6 Inch Water Pipe And Fittings	1,258	LF	\$121.00	\$152,218.00	\$84.00	\$56.00	\$176,120.00
15	801	8 Inch Water Pipe And Fittings	10,950	LF	\$143.00	\$1,565,850.00	\$85.00	\$56.00	\$1,543,950.00
		Concrete Blocking Class COC 6,	15		\$135.00	\$2,025.00	\$30.00	\$20.00	\$750.00
16	801*	Increase or Decrease		CY					
		Ductile Iron Fittings, Increase Or	1,000		\$5.00	\$5,000.00	\$0.60	\$0.40	\$1,000.00
17	801*	Decrease		LB					
18	802	6 Inch Valve And Appurtenances	26	EA	\$1,560.00	\$40,560.00	\$1,000.00	\$600.00	\$41,600.00
19	802	8 Inch Valve And Appurtenances	20	EA	\$1,800.00	\$36,000.00	\$1,200.00	\$800.00	\$40,000.00
		16" x 8" Tapping Sleeve and Valve	1		\$5,000.00	\$5,000.00	\$6,000.00	\$4,000.00	\$10,000.00
20	803	and Appurtenances		EA					
		3/4 Inch Water Service Tap,	140		\$1,800.00	\$252,000.00	\$1,000.00	\$700.00	\$238,000.00
21	805	Transferred, Long		EA					

					Engineer's	s Estimate	Elite Exc	avating Co. o	f Ohio, Inc.
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
		3/4 Inch Water Service Tap,	173		\$2,160.00	\$373,680.00	\$1,000.00	\$600.00	\$276,800.00
22	805	Transferred, Short		EA					
23	805*	Curb Box	313	EA	\$168.00	\$52,584.00	\$300.00	\$200.00	\$156,500.00
24	805*	CI Ferrule Valve Box and Cover	39	EA	\$1,020.00	\$39,780.00	\$300.00	\$200.00	\$19,500.00
		Cut and Plug (Cap) 6 Inch Water	3		\$2,500.00	\$7,500.00	\$2,100.00	\$1,400.00	\$10,500.00
25	808	Main or Water Tap		EA					
26	809	Fire Hydrant	23	EA	\$3,850.00	\$88,550.00	\$2,100.00	\$1,400.00	\$80,500.00
27	810*	6 Inch Hydrant Extension	5	EA	\$1,250.00	\$6,250.00	\$245.00	\$160.00	\$2,025.00
28	810*	12 Inch Hydrant Extension	5	EA	\$1,350.00	\$6,750.00	\$275.00	\$180.00	\$2,275.00
29	810*	18 Inch Hydrant Extension	5	EA	\$1,500.00	\$7,500.00	\$285.00	\$190.00	\$2,375.00
30	810*	24 Inch Hydrant Extension	5	EA	\$1,750.00	\$8,750.00	\$305.00	\$205.00	\$2,550.00
			185		\$55.00	\$10,175.00	\$15.00	\$10.00	\$4,625.00
31	811*	Increase Or Decrease In Excavation		CY					
32	815	Crushed Stone Or Gravel	595	CY	\$65.00	\$38,675.00	\$12.00	\$8.00	\$11,900.00
33	SPEC	Heat Welding	16	SY	\$300.00	\$4,800.00	\$90.00	\$60.00	\$2,400.00
34	SPEC	Permanent Pavement	1,047	CY	\$270.00	\$282,690.00	\$210.00	\$140.00	\$366,450.00
35	SPEC	Temporary Seeding and Mulching	1,113	SY	\$2.00	\$2,226.00	\$4.00	\$3.00	\$7,791.00
36	SPEC	Sediment and Erosion Controls	1	LS	\$5,000.00	\$5,000.00	\$3,000.00	\$2,000.00	\$5,000.00
37	SPEC	Survey Coordinates	1	LS	\$10,000.00	\$10,000.00	\$6,000.00	\$4,000.00	\$10,000.00
38	SPEC	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$450.00	\$300.00	\$6,750.00
39	SPEC	1	5,855	LF	\$3.75	\$21,956.25	\$2.00	\$1.00	\$17,565.00
40	SPEC	Pre-Construction Video	1	LS	\$3,500.00	\$3,500.00	\$2,100.00	\$1,400.00	\$3,500.00
		Subtotal:				\$4,002,803.88			\$3,469,416.25
		Contingency (10%)				\$400,280.39			\$346,941.63
		GRAND TOTAL:				\$4,403,084.26			\$3,816,357.88
	% DIFFERENCE FROM ENG'S EST.:								-13.3%
		% DIFFERENCE w/LOV							N/A
		Contract (Compliar	ice No.			201643	186 (exp. 2/4)	/22 MAJ, 1064)

Goals:	MBE = 1.3%	MBE:		
			Rath (EDGE/WBE)	2.36%
	WBE = 1.0%	WBE:		

				Engineer	s Estimate	Elite Excavating Co. of Ohio, Inc.			
Ref. # Item #	Description	Qty U	Jnits	Unit Price	Extension	Materials	Labor	Extension	

ORD #2125-2021, Division of Water Woodland Ave Area Water Line Improvements 690236-100101, CT No. 2125 Bid Tabulation, Opened 7/21/21

(not local)

·						Engineer's Estimate		Underground Utilities, Inc.		
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension	
1	201	Tree Removed, 8-inch size	1	EA	\$2,500.00	\$2,500.00	\$560.00	\$240.00	\$800.00	
2	201	Tree Removed, 15-inch size	1	EA	\$3,500.00	\$3,500.00	\$700.00	\$300.00	\$1,000.00	
			12,947		\$3.00	\$38,841.00	\$2.98	\$1.27	\$55,024.75	
3	254	Pavement Planing, Asphalt Concrete		SY						
		Driveway Replacement, Type IIIA	243		\$552.50	\$134,257.50	\$70.00	\$30.00	\$24,300.00	
4	259	(Asphalt)		CY						
		Driveway Replacement, Type IIIB	320		\$1,007.50	\$322,400.00	\$70.00	\$30.00	\$32,000.00	
5	259	(Concrete)		CY						
		Driveway Replacement, Type IIIC	204		\$84.50	\$17,238.00	\$7.00	\$3.00	\$2,040.00	
6	259	(Gravel)		CY						
7	407	Non-Tracking Tack Coat	2,455	GAL	\$4.88	\$11,968.13	\$2.28	\$0.97	\$7,978.75	
		Asphalt Concrete Surface Course,	686		\$318.50	\$218,491.00	\$147.00	\$63.00	\$144,060.00	
8	441	Type 1, (448), PG64-22		CY						
9	608	Concrete Walk (4")	1,152	SF	\$10.00	\$11,520.00	\$12.60	\$5.40	\$20,736.00	
10	613	Low Strength Mortar Backfill	112	CY	\$85.00	\$9,520.00	\$91.00	\$39.00	\$14,560.00	
11	614	Maintaining Traffic	1	LS	\$150,000.00	\$150,000.00	\$3,500.00	\$1,500.00	\$5,000.00	
12	615	Temporary Pavement	3,763	SY	\$8.00	\$30,104.00	\$0.70	\$0.30	\$3,763.00	
13	659	Seeding and Mulching	1,113	SY	\$15.00	\$16,695.00	\$7.00	\$3.00	\$11,130.00	
14	801	6 Inch Water Pipe And Fittings	1,258	LF	\$121.00	\$152,218.00	\$131.60	\$56.40	\$236,504.00	
15	801	8 Inch Water Pipe And Fittings	10,950	LF	\$143.00	\$1,565,850.00	\$140.70	\$60.30		
		Concrete Blocking Class COC 6,	15		\$135.00	\$2,025.00	\$70.00	\$30.00	\$1,500.00	
16	801*	Increase or Decrease		CY						
		Ductile Iron Fittings, Increase Or	1,000		\$5.00	\$5,000.00	\$0.70	\$0.30	\$1,000.00	
17	801*	Decrease		LB						
18	802	6 Inch Valve And Appurtenances	26	EA	\$1,560.00	\$40,560.00	\$1,050.00	\$450.00	\$39,000.00	
19	802	8 Inch Valve And Appurtenances	20	EA	\$1,800.00	\$36,000.00	\$1,330.00	\$570.00	\$38,000.00	
		16" x 8" Tapping Sleeve and Valve	1		\$5,000.00	\$5,000.00	\$5,600.00	\$2,400.00	\$8,000.00	
20	803	and Appurtenances		EA						
		3/4 Inch Water Service Tap,	140		\$1,800.00	\$252,000.00	\$700.00	\$300.00	\$140,000.00	
21	805	Transferred, Long		EA						

					Engineer's	s Estimate	Underg	round Utilit	ies, Inc.
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
		3/4 Inch Water Service Tap,	173		\$2,160.00	\$373,680.00	\$630.00	\$270.00	\$155,700.00
22	805	Transferred, Short		EA					
23	805*	Curb Box	313	EA	\$168.00	\$52,584.00	\$84.00	\$36.00	\$37,560.00
24	805*	CI Ferrule Valve Box and Cover	39	EA	\$1,020.00	\$39,780.00	\$70.00	\$30.00	\$3,900.00
		Cut and Plug (Cap) 6 Inch Water	3		\$2,500.00	\$7,500.00	\$1,750.00	\$750.00	\$7,500.00
25	808	Main or Water Tap		EA					
26	809	Fire Hydrant	23	EA	\$3,850.00	\$88,550.00	\$1,960.00	\$840.00	\$64,400.00
27	810*	6 Inch Hydrant Extension	5	EA	\$1,250.00	\$6,250.00	\$35.00	\$15.00	\$250.00
28	810*	12 Inch Hydrant Extension	5	EA	\$1,350.00	\$6,750.00	\$35.00	\$15.00	\$250.00
29	810*	18 Inch Hydrant Extension	5	EA	\$1,500.00	\$7,500.00	\$35.00	\$15.00	\$250.00
30	810*	24 Inch Hydrant Extension	5	EA	\$1,750.00	\$8,750.00	\$35.00	\$15.00	\$250.00
			185		\$55.00	\$10,175.00	\$8.40	\$3.60	\$2,220.00
31	811*	Increase Or Decrease In Excavation		CY					
32	815	Crushed Stone Or Gravel	595	CY	\$65.00	\$38,675.00	\$7.00	\$3.00	\$5,950.00
33	SPEC	Heat Welding	16	SY	\$300.00	\$4,800.00	\$44.10	\$18.90	\$1,008.00
34	SPEC	Permanent Pavement	1,047	CY	\$270.00	\$282,690.00	\$245.00	\$105.00	\$366,450.00
35	SPEC	Temporary Seeding and Mulching	1,113	SY	\$2.00	\$2,226.00	\$0.70	\$0.30	\$1,113.00
36	SPEC	Sediment and Erosion Controls	1	LS	\$5,000.00	\$5,000.00	\$2,100.00	\$900.00	\$3,000.00
37	SPEC	Survey Coordinates	1	LS	\$10,000.00	\$10,000.00	\$2,100.00	\$900.00	\$3,000.00
38	SPEC	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$210.00	\$90.00	\$2,700.00
39	SPEC	Video Inpsection of Sewers	5,855	LF	\$3.75	\$21,956.25	\$1.40	\$0.60	\$11,710.00
40	SPEC	Pre-Construction Video	1	LS	\$3,500.00	\$3,500.00	\$2,800.00	\$1,200.00	\$4,000.00
		Subtotal:				\$4,002,803.88			\$3,658,557.50
	Contingency (10%)					\$400,280.39			\$365,855.75
		GRAND TOTAL:				\$4,403,084.26			\$4,024,413.25
	% DIFFERENCE FROM ENG'S EST.:							-8.6%	
	% DIFFERENCE w/LOWEST BIDDER:								5.5%
		Contract (Compliar	nce No.			34124894	2, exp. 3/10/	23, MAJ 6588)

Goals:	MBE = 1.3%	MBE:		
			Rath (EDGE/WBE)	2.31%
	WBE = 1.0%	WBE:		

				ties, Inc.
Ref. # Item # Description Qty Units Unit Price	Extension	Materials	Labor	Extension

ORD #2125-2021, Division of Water Woodland Ave Area Water Line Improvements 690236-100101, CT No. 2125 Bid Tabulation, Opened 7/21/21

(not local)

					Engineer's Estimate		Danbert, Inc		
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 8-inch size	1	EA	\$2,500.00	\$2,500.00	\$0.00	\$250.00	\$250.00
2	201	Tree Removed, 15-inch size	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$1,000.00	\$1,000.00
			12,947		\$3.00	\$38,841.00	\$0.00	\$4.00	\$51,788.00
3	254	Pavement Planing, Asphalt Concrete		SY					
		Driveway Replacement, Type IIIA	243		\$552.50	\$134,257.50	\$150.00	\$324.58	\$115,322.94
4	259	(Asphalt)		CY					
		Driveway Replacement, Type IIIB	320		\$1,007.50	\$322,400.00	\$150.00	\$306.97	\$146,230.40
5	259	(Concrete)		CY					
		Driveway Replacement, Type IIIC	204		\$84.50	\$17,238.00	\$25.00	\$33.84	\$12,003.36
6	259	(Gravel)		CY					
7	407	Non-Tracking Tack Coat	2,455	GAL	\$4.88	\$11,968.13	\$2.25	\$0.90	\$7,733.25
		Asphalt Concrete Surface Course,	686		\$318.50	\$218,491.00	\$120.00	\$80.00	\$137,200.00
8	441	Type 1, (448), PG64-22		CY					
9	608	Concrete Walk (4")	1,152	SF	\$10.00	\$11,520.00	\$7.50	\$15.60	\$26,611.20
10		Low Strength Mortar Backfill	112	CY	\$85.00	\$9,520.00	\$86.00	\$20.56	\$11,934.72
11		Maintaining Traffic	1	LS	\$150,000.00	\$150,000.00	\$30,000.00	\$77,146.77	\$107,146.77
12		Temporary Pavement	3,763	SY	\$8.00	\$30,104.00	\$8.50	\$11.58	\$75,561.04
13		Seeding and Mulching	1,113	SY	\$15.00	\$16,695.00	\$5.75	\$9.75	\$17,251.50
14		6 Inch Water Pipe And Fittings	1,258	LF	\$121.00	\$152,218.00	\$45.00	\$86.15	\$164,986.70
15	801	8 Inch Water Pipe And Fittings	10,950	LF	\$143.00	\$1,565,850.00	\$52.50	\$103.57	\$1,708,966.50
		Concrete Blocking Class COC 6,	15		\$135.00	\$2,025.00	\$140.00	\$69.52	\$3,142.80
16	801*	Increase or Decrease		CY					
		Ductile Iron Fittings, Increase Or	1,000		\$5.00	\$5,000.00	\$4.50	\$1.02	\$5,520.00
17	801*	Decrease		LB					
18	802	6 Inch Valve And Appurtenances	26	EA	\$1,560.00	\$40,560.00	\$1,350.00	\$617.20	\$51,147.20
19	802	8 Inch Valve And Appurtenances	20	EA	\$1,800.00	\$36,000.00	\$1,725.00	\$649.22	\$47,484.40
		16" x 8" Tapping Sleeve and Valve	1		\$5,000.00	\$5,000.00	\$3,000.00	\$9,863.64	\$12,863.64
20		and Appurtenances		EA					
		3/4 Inch Water Service Tap,	140		\$1,800.00	\$252,000.00	\$575.00	\$1,737.44	\$323,741.60
21	805	Transferred, Long		EA					

					Engineer'	s Estimate		Danbert, Inc	c
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
		3/4 Inch Water Service Tap,	173		\$2,160.00	\$373,680.00	\$450.00	\$1,122.00	\$271,956.00
22	805	Transferred, Short		EA					
23	805*	Curb Box	313	EA	\$168.00	\$52,584.00	\$75.00	\$12.57	\$27,409.41
24	805*	CI Ferrule Valve Box and Cover	39	EA	\$1,020.00	\$39,780.00	\$150.00	\$38.80	\$7,363.20
		Cut and Plug (Cap) 6 Inch Water	3		\$2,500.00	\$7,500.00	\$300.00	\$2,225.46	\$7,576.38
25	808	Main or Water Tap		EA					
26	809	Fire Hydrant	23	EA	\$3,850.00	\$88,550.00	\$1,675.00	\$1,033.84	\$62,303.32
27	810*	6 Inch Hydrant Extension	5	EA	\$1,250.00	\$6,250.00	\$291.23	\$249.97	\$2,706.00
28	810*	12 Inch Hydrant Extension	5	EA	\$1,350.00	\$6,750.00	\$432.61	\$249.97	\$3,412.90
29	810*	18 Inch Hydrant Extension	5	EA	\$1,500.00	\$7,500.00	\$369.45	\$249.96	\$3,097.05
30	810*	24 Inch Hydrant Extension	5	EA	\$1,750.00	\$8,750.00	\$592.56	\$249.95	\$4,212.55
			185		\$55.00	\$10,175.00	\$25.00	\$29.37	\$10,058.45
31	811*	Increase Or Decrease In Excavation		CY					
32	815	Crushed Stone Or Gravel	595	CY	\$65.00	\$38,675.00	\$25.00	\$25.52	\$30,059.40
33	SPEC	Heat Welding	16	SY	\$300.00	\$4,800.00	\$4.50	\$58.50	\$1,008.00
34	SPEC	Permanent Pavement	1,047	CY	\$270.00	\$282,690.00	\$125.00	\$173.24	\$312,257.28
35	SPEC	Temporary Seeding and Mulching	1,113	SY	\$2.00	\$2,226.00	\$1.50	\$0.77	\$2,526.51
36	SPEC	Sediment and Erosion Controls	1	LS	\$5,000.00	\$5,000.00	\$4,500.00	\$6,094.63	\$10,594.63
37	SPEC	Survey Coordinates	1	LS	\$10,000.00	\$10,000.00	\$1,000.00	\$13,346.22	\$14,346.22
38	SPEC	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$800.00	\$113.75	\$8,223.75
39	SPEC	1	5,855	LF	\$3.75	\$21,956.25	\$0.50	\$7.19	\$45,024.95
40	SPEC	Pre-Construction Video	1	LS	\$3,500.00	\$3,500.00	\$75.00	\$1,695.00	\$1,770.00
		Subtotal:				\$4,002,803.88			\$3,853,792.02
		Contingency (10%)				\$400,280.39			\$385,379.20
		GRAND TOTAL:				\$4,403,084.26			\$4,239,171.22
	% DIFFERENCE FROM ENG'S EST.:								-3.7%
		% DIFFERENCE w/LOV							11.1%
		Contract	Compliar	nce No.			31-10	29004 (3/10/2	22, MAJ, 4618)

Goals:	MBE = 1.3%	MBE:	Bakarr Enterprises	0.65%
			JN Graham	
			Trucking +	
			JST	1.65%
			Enterprises	
	WBE = 1.0%	WBE:		

		Engineer'	s Estimate	Danbert, Inc				
Ref. # Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
								2.30%
		•						

ORD #2125-2021, Division of Water Woodland Ave Area Water Line Improvements 690236-100101, CT No. 2125 Bid Tabulation, Opened 7/21/21

					Engineer'	s Estimate	Sh	elly & Sands,	Inc.
Ref. #	Item#	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 8-inch size	1	EA	\$2,500.00	\$2,500.00	\$0.00	\$1,000.00	\$1,000.00
2	201	Tree Removed, 15-inch size	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$1,500.00	\$1,500.00
			12,947		\$3.00	\$38,841.00	\$0.00	\$5.75	\$74,445.25
3	254	Pavement Planing, Asphalt Concrete		SY					
		Driveway Replacement, Type IIIA	243		\$552.50	\$134,257.50	\$115.00	\$115.00	\$55,890.00
4	259	(Asphalt)		CY					
		Driveway Replacement, Type IIIB	320		\$1,007.50	\$322,400.00	\$345.00	\$345.00	\$220,800.00
5	259	(Concrete)		CY					
		Driveway Replacement, Type IIIC	204		\$84.50	\$17,238.00	\$70.00	\$70.00	\$28,560.00
6	259	(Gravel)		CY					
7	407	Non-Tracking Tack Coat	2,455	GAL	\$4.88	\$11,968.13	\$1.50	\$1.50	\$7,365.00
		Asphalt Concrete Surface Course,	686		\$318.50	\$218,491.00	\$92.50	\$92.50	\$126,910.00
8	441	Type 1, (448), PG64-22		CY					
9	608	Concrete Walk (4")	1,152	SF	\$10.00	\$11,520.00	\$9.00	\$9.00	\$20,736.00
10	613	Low Strength Mortar Backfill	112	CY	\$85.00	\$9,520.00	\$95.00	\$95.00	\$21,280.00
11	614	Maintaining Traffic	1	LS	\$150,000.00	\$150,000.00	\$149,500.00	\$149,500.00	\$299,000.00
12	615	Temporary Pavement	3,763	SY	\$8.00	\$30,104.00	\$2.50	\$2.50	\$18,815.00
13	659	Seeding and Mulching	1,113	SY	\$15.00	\$16,695.00	\$10.00	\$10.00	\$22,260.00
14	801	6 Inch Water Pipe And Fittings	1,258	LF	\$121.00	\$152,218.00	\$57.50	\$57.50	\$144,670.00
15	801	8 Inch Water Pipe And Fittings	10,950	LF	\$143.00	\$1,565,850.00	\$60.00	\$60.00	\$1,314,000.00
		Concrete Blocking Class COC 6,	15		\$135.00	\$2,025.00	\$67.50	\$67.50	\$2,025.00
16	801*	Increase or Decrease		CY					
		Ductile Iron Fittings, Increase Or	1,000		\$5.00	\$5,000.00	\$3.00	\$0.00	\$3,000.00
17	801*	Decrease		LB					
18	802	6 Inch Valve And Appurtenances	26	EA	\$1,560.00	\$40,560.00	\$900.00	\$900.00	\$46,800.00
19	802	8 Inch Valve And Appurtenances	20	EA	\$1,800.00	\$36,000.00	\$975.00	\$975.00	\$39,000.00
		16" x 8" Tapping Sleeve and Valve	1		\$5,000.00	\$5,000.00	\$4,250.00	\$4,250.00	\$8,500.00
20	803	and Appurtenances		EA					
		3/4 Inch Water Service Tap,	140		\$1,800.00	\$252,000.00	\$1,475.00	\$1,475.00	\$413,000.00
21	805	Transferred, Long		EA					

					Engineer's	Estimate	Shelly & Sands, Inc.		Inc.
Ref.#	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
		3/4 Inch Water Service Tap,	173		\$2,160.00	\$373,680.00	\$1,175.00	\$1,175.00	\$406,550.00
22	805	Transferred, Short		EA					
23	805*	Curb Box	313	EA	\$168.00	\$52,584.00	\$50.00	\$50.00	\$31,300.00
24	805*	CI Ferrule Valve Box and Cover	39	EA	\$1,020.00	\$39,780.00	\$32.50	\$32.50	\$2,535.00
		Cut and Plug (Cap) 6 Inch Water	3		\$2,500.00	\$7,500.00	\$1,250.00	\$1,250.00	\$7,500.00
25	808	Main or Water Tap		EA					
26	809	Fire Hydrant	23	EA	\$3,850.00	\$88,550.00	\$1,975.00	\$1,975.00	\$90,850.00
27	810*	6 Inch Hydrant Extension	5	EA	\$1,250.00	\$6,250.00	\$400.00	\$400.00	\$4,000.00
28	810*	12 Inch Hydrant Extension	5	EA	\$1,350.00	\$6,750.00	\$450.00	\$450.00	\$4,500.00
29	810*	18 Inch Hydrant Extension	5	EA	\$1,500.00	\$7,500.00	\$500.00	\$500.00	\$5,000.00
30	810*	24 Inch Hydrant Extension	5	EA	\$1,750.00	\$8,750.00	\$550.00	\$550.00	\$5,500.00
			185		\$55.00	\$10,175.00	\$45.00	\$45.00	\$16,650.00
31	811*	Increase Or Decrease In Excavation		CY					
32	815	Crushed Stone Or Gravel	595	CY	\$65.00	\$38,675.00	\$44.50	\$44.50	\$52,955.00
33	SPEC	Heat Welding	16	SY	\$300.00	\$4,800.00	\$27.50	\$27.50	\$880.00
34	SPEC	Permanent Pavement	1,047	CY	\$270.00	\$282,690.00	\$145.00	\$145.00	\$303,630.00
35	SPEC	Temporary Seeding and Mulching	1,113	SY	\$2.00	\$2,226.00	\$1.65	\$1.65	\$3,672.90
36	SPEC	Sediment and Erosion Controls	1	LS	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$30,000.00
37		Survey Coordinates	1	LS	\$10,000.00	\$10,000.00	\$500.00	\$4,500.00	\$5,000.00
38		Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$425.00	\$425.00	\$7,650.00
39		Video Inpsection of Sewers	5,855	LF	\$3.75	\$21,956.25	\$0.00	\$5.50	\$32,202.50
40	SPEC	Pre-Construction Video	1	LS	\$3,500.00	\$3,500.00	\$0.00	\$1,800.00	\$1,800.00
		Subtotal:				\$4,002,803.88			\$3,881,731.65
		Contingency (10%)				\$400,280.39			\$388,173.17
		GRAND TOTAL:				\$4,403,084.26			\$4,269,904.82
		% DIFFERENCE FRO							-3.0%
		% DIFFERENCE w/LOW							11.9%
		Contract (Compliar	ice No.					

Goals: MBE = 1.3%

				Engineer'	s Estimate	Sh	nelly & Sands,	Inc.
Ref. # Item	# Description	Qty U	Units	Unit Price	Extension	Materials	Labor	Extension

ORD #2125-2021, Division of Water Woodland Ave Area Water Line Improvements 690236-100101, CT No. 2125 Bid Tabulation, Opened 7/21/21

					Engineer'	s Estimate	Coni	e Constructi	on Co.
Ref.#	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 8-inch size	1	EA	\$2,500.00	\$2,500.00	\$0.00	\$1,000.00	\$1,000.00
2	201	Tree Removed, 15-inch size	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$2,500.00	\$2,500.00
			12,947		\$3.00	\$38,841.00	\$0.00	\$6.00	\$77,682.00
3	254	Pavement Planing, Asphalt Concrete		SY					
		Driveway Replacement, Type IIIA	243		\$552.50	\$134,257.50	\$134.00	\$66.00	\$48,600.00
4	259	(Asphalt)		CY					
		Driveway Replacement, Type IIIB	320		\$1,007.50	\$322,400.00	\$135.00	\$65.00	\$64,000.00
5	259	(Concrete)		CY					
		Driveway Replacement, Type IIIC	204		\$84.50	\$17,238.00	\$20.00	\$5.00	\$5,100.00
6	259	(Gravel)		CY					
7	407	Non-Tracking Tack Coat	2,455	GAL	\$4.88	\$11,968.13	\$2.85	\$1.15	\$9,820.00
		Asphalt Concrete Surface Course,	686		\$318.50	\$218,491.00	\$134.00	\$91.00	\$154,350.00
8	441	Type 1, (448), PG64-22		CY					
9	608	Concrete Walk (4")	1,152	SF	\$10.00	\$11,520.00	\$2.00	\$13.00	\$17,280.00
10	613	Low Strength Mortar Backfill	112	CY	\$85.00	\$9,520.00	\$85.00	\$15.00	\$11,200.00
11	614	Maintaining Traffic	1	LS	\$150,000.00	\$150,000.00	\$15,000.00	\$15,000.00	\$30,000.00
12	615	Temporary Pavement	3,763	SY	\$8.00	\$30,104.00	\$5.00	\$5.00	\$37,630.00
13	659	Seeding and Mulching	1,113	SY	\$15.00	\$16,695.00	\$7.50	\$7.50	\$16,695.00
14	801	6 Inch Water Pipe And Fittings	1,258	LF	\$121.00	\$152,218.00	\$40.00	\$110.00	\$188,700.00
15	801	8 Inch Water Pipe And Fittings	10,950	LF	\$143.00	\$1,565,850.00	\$50.00	\$120.00	\$1,861,500.00
		Concrete Blocking Class COC 6,	15		\$135.00	\$2,025.00	\$135.00	\$15.00	\$2,250.00
16	801*	Increase or Decrease		CY					
		Ductile Iron Fittings, Increase Or	1,000		\$5.00	\$5,000.00	\$3.25	\$0.75	\$4,000.00
17	801*	Decrease		LB					
18	802	6 Inch Valve And Appurtenances	26	EA	\$1,560.00	\$40,560.00	\$1,200.00	\$200.00	\$36,400.00
19	802	8 Inch Valve And Appurtenances	20	EA	\$1,800.00	\$36,000.00	\$1,500.00	\$300.00	\$36,000.00
		16" x 8" Tapping Sleeve and Valve	1		\$5,000.00	\$5,000.00	\$2,600.00	\$6,900.00	\$9,500.00
20	803	and Appurtenances		EA					
		3/4 Inch Water Service Tap,	140		\$1,800.00	\$252,000.00	\$450.00	\$1,550.00	\$280,000.00
21	805	Transferred, Long		EA					

					Engineer's Estimate		Conie Construction Co.		
Ref.#	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
		3/4 Inch Water Service Tap,	173		\$2,160.00	\$373,680.00	\$300.00	\$1,000.00	\$224,900.00
22	805	Transferred, Short		EA					
23	805*	Curb Box	313	EA	\$168.00	\$52,584.00	\$112.00	\$18.00	\$40,690.00
24	805*	CI Ferrule Valve Box and Cover	39	EA	\$1,020.00	\$39,780.00	\$75.00	\$15.00	\$3,510.00
		Cut and Plug (Cap) 6 Inch Water	3		\$2,500.00	\$7,500.00	\$400.00	\$3,100.00	\$10,500.00
25	808	Main or Water Tap		EA					
26	809	Fire Hydrant	23	EA	\$3,850.00	\$88,550.00	\$1,300.00	\$1,475.00	\$63,825.00
27	810*	6 Inch Hydrant Extension	5	EA	\$1,250.00	\$6,250.00	\$365.00	\$0.00	\$1,825.00
28	810*	12 Inch Hydrant Extension	5	EA	\$1,350.00	\$6,750.00	\$440.00	\$0.00	\$2,200.00
29	810*	18 Inch Hydrant Extension	5	EA	\$1,500.00	\$7,500.00	\$505.00	\$0.00	\$2,525.00
30	810*	24 Inch Hydrant Extension	5	EA	\$1,750.00	\$8,750.00	\$560.00	\$0.00	\$2,800.00
			185		\$55.00	\$10,175.00	\$3.00	\$12.00	\$2,775.00
31	_	Increase Or Decrease In Excavation		CY					
32		Crushed Stone Or Gravel	595	CY	\$65.00	\$38,675.00	\$25.00	\$9.00	\$20,230.00
33		Heat Welding	16	SY	\$300.00	\$4,800.00	\$5.00	\$60.00	\$1,040.00
34		Permanent Pavement	1,047	CY	\$270.00	\$282,690.00	\$307.00	\$300.00	\$635,529.00
35		Temporary Seeding and Mulching	1,113	SY	\$2.00	\$2,226.00		\$0.75	\$1,113.00
36		Sediment and Erosion Controls	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$1,500.00	\$5,500.00
37		Survey Coordinates	1	LS	\$10,000.00	\$10,000.00	\$0.00	\$7,500.00	\$7,500.00
38		Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$500.00	\$400.00	\$8,100.00
39		Video Inpsection of Sewers	5,855	LF	\$3.75	\$21,956.25	\$0.00	\$5.00	\$29,275.00
40	SPEC	Pre-Construction Video	1	LS	\$3,500.00	\$3,500.00	\$0.00	\$5,000.00	\$5,000.00
		Subtotal:				\$4,002,803.88			\$3,963,044.00
		Contingency (10%)				\$400,280.39			\$396,304.40
		GRAND TOTAL:				\$4,403,084.26			\$4,359,348.40
		% DIFFERENCE FRO							-1.0%
		% DIFFERENCE w/LOW							14.2%
		Contract (Complian	ice No.					

Goals: MBE = 1.3%

					Engineer'	s Estimate	Coni	ie Constructi	ion Co.
Ref. # Ite	em#	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension

ORD #2125-2021, Division of Water Woodland Ave Area Water Line Improvements 690236-100101, CT No. 2125 Bid Tabulation, Opened 7/21/21

					Engineer's	s Estimate	Drive	en Excavatin	g LLC
Ref. #	Item#	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	201	Tree Removed, 8-inch size	1	EA	\$2,500.00	\$2,500.00	\$200.00	\$100.00	\$300.00
2	201	Tree Removed, 15-inch size	1	EA	\$3,500.00	\$3,500.00	\$650.00	\$200.00	\$850.00
			12,947		\$3.00	\$38,841.00	\$5.00	\$2.00	\$90,629.00
3	254	Pavement Planing, Asphalt Concrete		SY					
		Driveway Replacement, Type IIIA	243		\$552.50	\$134,257.50	\$140.00	\$140.00	\$68,040.00
4	259	(Asphalt)		CY					
		Driveway Replacement, Type IIIB	320		\$1,007.50	\$322,400.00	\$89.00	\$40.00	\$41,280.00
5	259	(Concrete)		CY					
		Driveway Replacement, Type IIIC	204		\$84.50	\$17,238.00	\$35.00	\$10.00	\$9,180.00
6	259	(Gravel)		CY					
7	407	Non-Tracking Tack Coat	2,455	GAL	\$4.88	\$11,968.13	\$3.00	\$1.00	\$9,820.00
		Asphalt Concrete Surface Course,	686		\$318.50	\$218,491.00	\$160.00	\$50.00	\$144,060.00
8	441	Type 1, (448), PG64-22		CY					
9	608	Concrete Walk (4")	1,152	SF	\$10.00	\$11,520.00	\$9.00	\$3.00	\$13,824.00
10	613	Low Strength Mortar Backfill	112	CY	\$85.00	\$9,520.00	\$140.00	\$15.00	\$17,360.00
11	614	Maintaining Traffic	1	LS	\$150,000.00	\$150,000.00	\$20,000.00	\$10,000.00	\$30,000.00
12	615	Temporary Pavement	3,763	SY	\$8.00	\$30,104.00	\$30.00	\$30.00	\$225,780.00
13		Seeding and Mulching	1,113	SY	\$15.00	\$16,695.00	\$1.00	\$1.00	\$2,226.00
14	801	6 Inch Water Pipe And Fittings	1,258	LF	\$121.00	\$152,218.00	\$128.00	\$77.00	\$257,890.00
15	801	8 Inch Water Pipe And Fittings	10,950	LF	\$143.00	\$1,565,850.00	\$136.00	\$70.00	\$2,255,700.00
		Concrete Blocking Class COC 6,	15		\$135.00	\$2,025.00	\$200.00	\$200.00	\$6,000.00
16	801*	Increase or Decrease		CY					
		Ductile Iron Fittings, Increase Or	1,000		\$5.00	\$5,000.00	\$2.00	\$4.00	\$6,000.00
17	801*	Decrease		LB					
18	802	6 Inch Valve And Appurtenances	26	EA	\$1,560.00	\$40,560.00	\$400.00	\$1,640.00	\$53,040.00
19	802	8 Inch Valve And Appurtenances	20	EA	\$1,800.00	\$36,000.00	\$1,880.00	\$400.00	\$45,600.00
		16" x 8" Tapping Sleeve and Valve	1		\$5,000.00	\$5,000.00	\$4,500.00	\$5,500.00	\$10,000.00
20	803	and Appurtenances		EA					
		3/4 Inch Water Service Tap,	140		\$1,800.00	\$252,000.00	\$1,000.00	\$800.00	\$252,000.00
21	805	Transferred, Long		EA					

					Engineer'	s Estimate	Drive	Driven Excavating LLC		
Ref.#	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension	
		3/4 Inch Water Service Tap,	173		\$2,160.00	\$373,680.00	\$1,000.00	\$700.00	\$294,100.00	
22	805	Transferred, Short		EA						
23	805*	Curb Box	313	EA	\$168.00	\$52,584.00	\$230.00	\$40.00	\$84,510.00	
24	805*	CI Ferrule Valve Box and Cover	39	EA	\$1,020.00	\$39,780.00	\$80.00	\$15.00	\$3,705.00	
		Cut and Plug (Cap) 6 Inch Water	3		\$2,500.00	\$7,500.00	\$1,000.00	\$200.00	\$3,600.00	
25	808	Main or Water Tap		EA						
26	809	Fire Hydrant	23	EA	\$3,850.00	\$88,550.00	\$2,000.00	\$1,000.00	\$69,000.00	
27	810*	6 Inch Hydrant Extension	5	EA	\$1,250.00	\$6,250.00	\$400.00	\$100.00	\$2,500.00	
28		12 Inch Hydrant Extension	5	EA	\$1,350.00	\$6,750.00	\$500.00	\$125.00	\$3,125.00	
29	810*	18 Inch Hydrant Extension	5	EA	\$1,500.00	\$7,500.00	\$550.00	\$135.00	\$3,425.00	
30	810*	24 Inch Hydrant Extension	5	EA	\$1,750.00	\$8,750.00	\$600.00	\$140.00	\$3,700.00	
			185		\$55.00	\$10,175.00	\$80.00	\$20.00	\$18,500.00	
31	811*	Increase Or Decrease In Excavation		CY						
32	815	Crushed Stone Or Gravel	595	CY	\$65.00	\$38,675.00	\$30.00	\$20.00	\$29,750.00	
33		Heat Welding	16	SY	\$300.00	\$4,800.00	\$70.00	\$70.00	\$2,240.00	
34		Permanent Pavement	1,047	CY	\$270.00	\$282,690.00	\$200.00	\$60.00	\$272,220.00	
35		Temporary Seeding and Mulching	1,113	SY	\$2.00	\$2,226.00	\$3.00	\$3.00	\$6,678.00	
36	SPEC	Sediment and Erosion Controls	1	LS	\$5,000.00	\$5,000.00	\$10,500.00	\$5,500.00	\$16,000.00	
37	SPEC	Survey Coordinates	1	LS	\$10,000.00	\$10,000.00	\$30,150.00	\$15,000.00	\$45,150.00	
38		Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$1,000.00	\$300.00	\$11,700.00	
39		Video Inpsection of Sewers	5,855	LF	\$3.75	\$21,956.25	\$10.00	\$3.00	\$76,115.00	
40	SPEC	Pre-Construction Video	1	LS	\$3,500.00	\$3,500.00	\$2,000.00	\$800.00	\$2,800.00	
		Subtotal:				\$4,002,803.88			\$4,488,397.00	
		Contingency (10%)				\$400,280.39			\$448,839.70	
		GRAND TOTAL:				\$4,403,084.26			\$4,937,236.70	
		% DIFFERENCE FRO							12.1%	
		% DIFFERENCE w/LOW							29.4%	
		Contract (Complian	nce No.						

Goals: MBE = 1.3%

				Engineer'	s Estimate	Driv	en Excavatir	ng LLC
Ref. # Item	# Description	on Qty	Units	Unit Price	Extension	Materials	Labor	Extension

General Info

Number: 690236-100101, Contract 2125

Description: Woodland Ave Area Water Line Improvements

Deadline: 2021-07-21 19:00:00 UTC

Bids		
Business	Bid Total	Submitted at
Elite Excavating Co. of Ohio, Inc.	\$3,816,357.88	2021-07-21 18:45:32 UTC
Underground Utilities, Inc.	\$4,024,413.25	2021-07-21 15:33:27 UTC
Danbert, Inc	\$4,239,171.22	2021-07-21 14:30:50 UTC
Shelly & Sands, Inc.	\$4,269,904.81	2021-07-21 15:04:47 UTC
Conie Construction Co.	\$4,359,348.40	2021-07-21 16:12:37 UTC
Driven Excavating LLC	\$4,937,236.70	2021-07-21 18:54:19 UTC

Signed by	Opened at
Dale Stevens	2021-07-21 19:08:54 UTC
John Bores	2021-07-21 19:07:30 UTC
Matthew Lemon	2021-07-21 19:05:52 UTC
Jeff Schultz	2021-07-21 19:06:40 UTC
Bill O'Malley	2021-07-21 19:08:03 UTC
DARRIN FEICHTNER	2021-07-21 19:09:35 UTC